Uddevalla BF
Henriks minne 2019-06-01

Partavling, 25 bord, 50 par. Antal brickor: 42. Medel: 1008.0.

Plac Par Poang % Namn MID Klubb
1 6 1308 64.88 Goran Selldén - Gote Berntsson 4863 92122 BK Everfresh - BK Lyx
2 7 1278  63.39 Bjorn Sorling - Bo Roos 80438 13691 SkaraBS
3 60 1277  63.34 Christian Carlsson - Séren Lennartsson 9498 9338  Falkdpings BS
4 78 1274  63.19 Erik Franzén - Peter Johansson 76 245 Hedemora BS - Borlange BK
5 69 1240 61.51 Daniel Salomonsson - Hans Johansson 15175 14410 Uddevalla BF - Tjorns BK
6 10 1236  61.31 Michael Lemborn - Eva Gunnarsson 1215 12598 Karlstads BK - Arvika BS
7 11 1233  61.16 Par Ol-Mars - Tore Stormo 5342 78250 BK S:tErik
8 59 1147 56.89 Eric Behm - Hakan Gabrielsen 187 27871 LudvikaBygdens BK - Borlange BK
9 19 1138 56.45 Karin Nyberg - Ulla Berntsson 5059 11235 Asperd-Branno BK
10 74 1116 55.36 Borje Dahlberg - Jaenita Johansson 4744 7598 BK Lyx - Bords BA
11 72 1110 55.06 Benny Olsson - Roger Nyman 592 7522  Skovde BA - Kungshamns BK
12 56 1104 54.76 Tommy Svensson - Arne Jordestedt 7520 4809 Kungshamns BK
13 13 1099 54.51 Kent Rorqvist - Renée Blixt 2491 60183 ArvikaBS
14 67 1086 53.87 Peter Wester - Eva Nyberg 54 11574 Hedemora BS
15 12 1084 53.77 Niclas Samuelsson - Tom Gérds 4362 13002 Uddevalla BF - BK Bjorken
16 4 1074  53.27 Oscar Hult - Hans Eriksson 12879 4844  Partille/M6Inlycke BK
17 70 1069 53.03 Lars-Goran Larsson - Jonas Hogedal 6849 29993 Uddevalla BF - Vénersborgs BS
18 71 1065 52.83 Bjorn Wenander - Ingvar Grahn 4856 5064 Onsdagsklubben
19 73 1051 52.13 Per Schullstrém - Lena Schullstrom 28089 32944 mals BS
20 21 1045 51.84 Kjell Helin - Leif Martinsson 16870 7463 BS 53, Goteborg - Orust BK
21 66 1040 51.59 Kjell Berg - Marielle Dietrich 13142 32683 Tjorns BK
22 79 1029 51.04 Micael Svensson - Therése Andersson 2383 35554 Orebridgen
23 3 1028 50.99 Stefan Stolt - Birgitta Wilhelmsson 29994 17196 Vanersborgs BS
24 5 1027 50.94 Tommy Gunnarsson - Suzanne Lemborn 10295 14984 Arvika BS - Karlstads BK
25 80 1003  49.75 Laila Barone - Kent Larsson 50185 7660 Tjorns BK
26 8 996 49.40 Michael Koch - Christer Koch 27453 85704 Kungélvs BK - BK S:t Erik
27 77 979 48.56  Allan Johansson - Kenneth Gadd 18392 7511 Tjorns BK
28 16 976 48.41 Ulf Halvorsen - Carina Halvorsen 3452 91477 Vanersborgs BS
28 68 976 48.41 Sven-Goran Lennartsson - Morgan Carlman 12534 32484 Herrljunga BK - Levene BK
30 18 973 48.26  Hakan Nilsson - Agneta Oppenstam 1168 3910 Ljungskile BK
31 76 971 48.16 Ingegerd Lundgren - Ulla Ridderstad 6961 25973 Séavsjo BK - BK Opalen
32 64 953 47.27 Anna Ek - Elisabeth Brattberg 59578 61569 Uddevalla BF
33 24 950 47.12  Axel Selvén - Nils Svensson 63229 26780 BK Albrekts
34 17 949 47.07 Eva Glans - Jan Ohlsson 8552 92308 Orust BK - Lerums BK
35 62 947 46.97  Liv Andersson - Inger Karlsson 4831 3604 Uddevalla BF
36 57 939 46.58 Rebecca Nelje - Jan Holmstrém 42427 42433 BK Albrekts
37 63 937 46.48 Evert Bengtsson - Birgitta Bengtsson 24224 24225 Kalmarsunds BK
38 61 926 45.93 Karola Hogberg - Lars Lilja 17222 4118 Lindesbergs BS
39 2 925 45.88 Per Andersson - Gunilla Andersson 17111 88955 BK Albrekts
40 9 899 44,59  Christian Lundgren - Roger Flodstrand 28493 27701 Kungshamns BK
41 23 859 42.61 Lennart Keussen - Ewa Merkander 53649 61480 Djursholms BK - BK Debut
42 65 843 41.82 Annike Larsson - Stig Ljungqvist 87006 28555 Uddevalla BF
43 20 826 40.97 Elisabeth Olsson - Kerstin Edwall 42078 47140 Asa/Frillesds BK
44 25 809 40.13  Sven Martensson - Ewa Eriksson 41916 80479 BK S:t Erik
45 22 801 39.73 Leif Erlandsson - Karin Erlandsson 45510 45509 Nora BK
46 75 784 38.89 Peter Nohrén - Inga-Lis Larsson 81347 81346 Borléange BK
47 14 782 38.79 Eva Sylvan - Ingrid Katz 31662 25953 BK Lyx - BK Everfresh
48 1 769 38.14  Gunilla Lindahl - Ulla-brith Johansson 29639 55028 Tjorns BK - Stenungsunds BK
49 15 767 38.05 Thomas Andersson - Ulla-Stina Gustavsson 38242 32099 Uddevalla BF
50 58 703 34.87 Katarina Magnusson - Christina Gabinus 44905 26237 BS Damernas - BK Everfresh
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vD5 v 86 vKKn98 vEG63 v K852 v 643
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Par  Kontr Ut Res Poang Par  Kontr ut Res Poang Par  Kontr ut Res Poang
5 76 54DO-2 vA 300 470 10(24 57 2¢ O-2 v2 100 470 10| 3 79 54DS= #A 650 48.0 0.0
56 25 34DV-2 v2 300 470 10(80 1 2NO-2 LN 100 47.0 10| 4 78 44 S+3 2 510 40.0 8.0
61 20 34 V-3 v2 150 43.0 50|11 70 INO-1 3 50 43.0 50(12 71 44 S+3 2 510 40.0 8.0
63 18 34 V-3 v4 150 430 50(23 58 INO-1 LX) 50 43.0 50(66 17 44 S+3 v2 510 40.0 8.0
4 77 3v S= +Q 140 39.0 90| 576 2¢ O= *Q 90 36.0 12.0(68 15 54 S +2 3 510 40.0 8.0
60 21 3v S= +Q 140 39.0 9.0|60 21 2¢ O= *Q 90 36.0 12.0(70 13 44 S+3 v5 510 40.0 8.0
59 22 44 0-2 vA 100 320 16.0(61 20 INO= &5 90 36.0 12.0(72 11 44 S+3 2 510 40.0 8.0
64 17 34 V-2 +6 100 320 16.0(69 12 INO= &5 90 36.0 12.0(80 2 54 S+2 2 510 40.0 8.0
65 16 34 V-2 *A 100 320 16.0(74 7 INO= 3 90 36.0 120 1 7 54 S+1 2 480 18.0 30.0
67 14 44 V-2 v9 100 32.0 16.0|56 25 24 N-1 +Q -100 30.0 18.0| 5 77 44 S+2 A 480 18.0 30.0
73 8 34 V-2 *A 100 32.0 16.0(59 22 2¢ O+1 &Q -110 24.0 24.0| 6 76 44 S+2 A 480 18.0 30.0
9 72 34 V-1 v2 50 240 240|162 19 2v V= *7 -110 24.0 24.0|10 73 54 S+1 *A 480 18.0 30.0
23 58 34 V-1 v2 50 240 240|163 18 2¢ O+1 #Q -110 24.0 24.0|16 67 44 S+2 A 480 18.0 30.0
80 1 3aV-1 *A 50 240 240|167 14 2v O = *Q -110 24.0 24.0|24 59 44 S+2 *A 480 18.0 30.0
11 70 3v S-1 +Q -50 18.0 30.0(68 13 2¢ O+1 #Q -110 24.0 24.0|25 58 54 N +1 *A 480 18.0 30.0
69 12 3v S-1 +Q -50 18.0 30.0| 9 72 2NO= LX) -120 16.0 32.0|60 23 54 S +1 *A 480 18.0 30.0
74 7 3vS-1 +Q -50 18.0 30.0(71 10 INO+1 «Q -120 16.0 32.0|61 22 54 S+1 A 480 18.0 30.0
279 4vS-2 +Q -100 11.0 37.0|73 8 2NO= &5 -120 16.0 32.0|63 20 44 S+2 *A 480 18.0 30.0
24 57 3v S-2 +Q -100 11.0 37.0| 3 78 2v V+1 &K -140 10.0 38.0|64 19 44 S+2 &A 480 18.0 30.0
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62 19 4v S-2 s A -100 11.0 37.0( 4 77 2v V+1 &K -140 10.0 38.0 (65 18 54 S+1 & A 480 18.0 30.0
71 10 4v S-2 ¢ Q -100 11.0 37.0|65 16 2v O+1 &Q -140 10.0 38.0 (69 14 44 S+2 &A 480 18.0 30.0
68 13 34 V= v4 -140 6.0 420 2 79 INO+2 a2 -150 40 440(74 9 44 S+2 »A 480 18.0 30.0
15 66 4v S-3 +Q -150 40 44.0|15 66 2NO +1 &5 -150 40 44075 8 44 S+2 &A 480 18.0 30.0
75 6 4vS-4 ¢ Q -200 20 46.0|75 6 INO+2 &3 -150 4.0 44.0(57 56 44 S+1 +2 450 1.0 47.0
3 78 4¢vDS-2 +Q -300 0.0 48.0|64 17 24 N-2 *J -200 0.0 48.0|62 21 54 S= &A 450 1.0 47.0
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Par Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
12 71 64 O-1 a2 100 450 3.0(17 68 3v N= a4 140 470 10|71 14 44DO-1 ¥vA 200 48.0 0.0
63 20 5# V-1 aA 100 450 3.0|66 19 3v N= aA 140 470 10| 2 8 44 0-1 &T 100 420 6.0
65 18 64 V-1 s A 100 450 3.0(11 74 INN+1 a4 120 440 40| 7 76 44 O-1 ¢+5 100 420 6.0
80 2 5&V-1 s A 100 450 3.0(69 16 44DO-1 43 100 420 6.0(13 72 44 O-1 ¢+5 100 420 6.0
5 77 44 S-1 vA -100 36.0 12.0(70 15 INN= &2 90 38.0 10.0(56 59 44 O-1 vA 100 420 6.0
6 76 34 N-1 v6 -100 36.0 12.0|73 12 INN= &4 90 38.0 10.0(67 18 44 O-1 &T 100 420 6.0
10 73 34 N-1 v6 -100 36.0 12.0|75 10 INN= &4 90 38.0 10.0| 5 78 5v S-3 *Q -150 36.0 12.0
60 23 44 S-1 vA -100 36.0 12.0(62 23 34 O-1 vJ] 50 340 140(73 12 34 O+1 vA -170  34.0 14.0
66 17 34 N-1 v5 -100 36.0 120| 2 8 2v N-1 +9 -100 31.0 17.0|70 15 34 O+3 &T -230 32.0 16.0
62 21 2v O+2 &7 -170  29.0 19.0|65 20 3v N-1 +9 -100 31.0 17.0|(80 3 4vDS-2 #Q -300 30.0 18.0
70 13 2v V +2 +3 -170  29.0 19.0(64 21 2¢ V+1 &K -110 28.0 20.0(69 16 5vDS-3 #J -500 28.0 20.0
24 59 44 N-2 v6 -200 26.0 220 7 76 24 V+1 vK -140 25.0 230 1 9 44 0= &T -620 20.0 28.0
72 11 44DN-2 v¥6 -500 24.0 24.0(80 3 34 0= v7 -140 25.0 23.0| 4 79 44 O= &T -620 20.0 28.0
379 4v V= *Q 620 140 340| 1 9 34 0O+1 v7 -170  17.0 31.0|11 74 44 O= &T -620 20.0 28.0
4 78 4v V= aA -620 14.0 34.0| 4 79 34 O+1 v7 -170 17.0 31.0|25 60 44 O= &T -620 20.0 28.0
16 67 4v V= v3 -620 14.0 34.0(13 72 24 V+2 A -170 17.0 31.0|61 24 44 O= &T -620 20.0 28.0
25 58 4v V= aA -620 14.0 34.0(25 60 24 O+2 v7 -170  17.0 31.0|63 22 44 O= &T -620 20.0 28.0
57 56 4v V= aA -620 14.0 34.0(61 24 24 V+2 &A -170 17.0 31.0|64 21 44 O= &T -620 20.0 28.0
61 22 4v V= +3 -620 14.0 34.0 (67 18 24 V+2 vK -170 17.0 31.0| 6 77 44 O+1 &T -650 7.0 41.0
68 15 4v V= *T -620 14.0 34.0( 6 77 3v N-2 +9 -200 8.0 40.0|17 68 44 O +1 vA -650 7.0 41.0
69 14 4v V= +6 -620 14.0 34.0|63 22 3v N-2 +9 -200 8.0 40.0|58 57 44 O+1 vA -650 7.0 41.0
75 8 4v V= s A -620 14.0 34.0|71 14 4v N-2 &4 -200 8.0 40.0|62 23 44 O+1 vA -650 7.0 41.0
64 19 4v V+1 +6 -650 3.0 450| 5 78 4v N-3 +9 -300 2.0 46.0|66 19 44 O +1 vA -650 7.0 41.0
74 9 4v V+1 +3 -650 3.0 45056 59 INN-3 +9 -300 2.0 46.0|75 10 44 O+1 &T -650 7.0 41.0
1 7 640= *2 -1370 0.0 48.0|58 57 4v N-3 +6 -300 2.0 46.0|65 20 44D O= &T -790 0.0 48.0
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66 21 4v O-1 A 100 470 10|59 58 2NO-1 L X} 50 470 10| 8 77 44 V-2 &T 200 48.0 0.0
72 15 4v O-1 &K 100 470 10|66 21 3v V-1 T 50 470 10| 6 79 2v N+1 aA 140 430 5.0
59 58 3v O+1 &K -170 440 40| 5 79 2¢ N-1 ¢J -50 420 6.0({19 70 2v N+1 aA 140 430 5.0
12 75 4v V= &T -620 37.0 11.0( 7 77 24 N-1 vQ -50 42.0 6.0[60 59 3v N= 4 A 140 43.0 5.0
14 73 4v V= &8 -620 37.0 11.0|63 24 2&S-1 +4 50 420 6.0|72 17 2v N+1 aA 140 430 5.0
56 61 4v O= aJ -620 37.0 11.0| 2 10 INV= 46 90 240 24.0(69 20 2v S= ¢7 110 37.0 11.0
57 60 4v O = &A -620 37.0 110 3 9 INO= &8 90 24.0 24.0(73 16 2v N= 4 A 110 37.0 11.0
63 24 4v O= &A -620 37.0 11.0| 8 76 INO= »8 90 240 24.0( 4 10 34 V-1 v7 100 34.0 14.0
65 22 4v O= &K -620 37.0 11.0(12 75 INV= *T 90 240 240| 2 12 4v N-1 s A -50 29.0 19.0
111 4vO+1 &A -650 15.0 33.0(18 69 INV= a4 90 24.0 240( 3 11 4v N-1 ¢A -50 29.0 19.0
2 10 4v O +1 A -650 15.0 33.0|56 61 INO= a3 90 240 240| 9 76 3« N-1 s A -50 29.0 19.0
3 9 4v0+1 A -650 15.0 33.0(62 25 INV= a4 90 240 24.0(75 14 2v N-1 s A -50 29.0 19.0
5 79 4v O +1 A -650 15.0 33.0(64 23 INO= &7 90 240 240(13 1 2¢ O= vA -90 23.0 25.0
6 78 4v V+1 &T -650 15.0 33.0(65 22 INV= *T 90 240 24.0(65 24 2¢ O= vA -90 23.0 25.0
7 77 4v O +1 A -650 15.0 33.0(67 20 INV= +6 -90 24.0 24.0(57 62 3v S-2 ¢7 -100 20.0 28.0
8 76 4v O +1 &A -650 15.0 33.0(68 19 INV= *7 90 24.0 24.0(58 61 24 V= *4 -110 15.0 33.0
18 69 4v V+1 a7 -650 15.0 33.0|70 17 INO= va 90 240 24.0(66 23 24 V= v7 -110 15.0 33.0
62 25 4v O +1 A -650 15.0 33.0|71 16 INO= 48 90 24.0 24.0(67 22 24 V= &T -110 15.0 33.0
64 23 4v O +1 +Q -650 15.0 33.0|72 15 INO= a7 90 24.0 240(80 5 24 V= v5 -110 15.0 33.0
67 20 5v O= A -650 15.0 33.0(80 4 INO= 8 90 240 240( 7 78 24 V+1 &T -140 6.0 42.0
68 19 4v O +1 &K -650 15.0 33.0| 6 78 2#S-2 +4 -100 6.0 42.0|63 56 24 V+1 &T -140 6.0 42.0
70 17 4v O +1 &A -650 15.0 33.0(57 60 24 N-2 v9 -100 6.0 42.0|64 25 24 V+1 &9 -140 6.0 42.0
71 16 4v O +1 +Q -650 15.0 33.0|74 13 2¢ N-2 v9 -100 6.0 42.0|68 21 34 V= v7 -140 6.0 42.0
74 13 4v O +1 SA -650 15.0 33.0(14 73 2NV = &A -120 2.0 46.0|71 18 24 V+1 v7 -140 6.0 42.0
80 4 4v O+1 A -650 150 33.0( 1 11 24DN-2 45 -300 0.0 48.0|15 74 24 V+2 v] -170 0.0 48.0
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Par Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
57 62 2NO-3 +3 300 470 10(10 76 4¢DO-2 46 300 48.0 00| 4 12 3NN+2 a5 660 36.0 12.0
68 21 3v V-3 v6 300 470 10|64 57 34 N+1 ¢J 170 450 3.0| 5 11 3NN+2 ¢J 660 36.0 12.0
9 76 INV-2 +6 200 440 4.0|69 22 24 N+2 +3 170 450 30| 7 79 3NN+2 a5 660 36.0 12.0
7 78 24 N+1 vK 140 420 60| 7 79 24 N+1 &4 140 37.0 11.0| 8 78 3NN +2 a5 660 36.0 12.0
69 20 24 N= vK 110 400 80(14 2 24 N+1 vK 140 37.0 11.0(10 76 3NN +2 48 660 36.0 12.0
3 11 INV-1 &9 100 31.0 170|16 75 34 N= +5 140 37.0 11.0|59 62 3NN +2 &9 660 36.0 12.0
6 79 2v V-1 v9 100 31.0 17.0(66 25 24 N+1 +5 140 37.0 11.0(64 57 3NN +2 a7 660 36.0 12.0
60 59 2v V-1 v6 100 31.0 17.0|(68 23 24 N+1 ¢+5 140 37.0 11.0|66 25 3NN +2 48 660 36.0 12.0
67 22 2v V-1 v9 100 31.0 17.0|80 6 34 N= vK 140 37.0 11.0|67 24 3NN +2 a5 660 36.0 12.0
71 18 INV-1 29 100 31.0 17.0(59 62 24 N= s A 110 28.0 20.0 (68 23 3N N+2 *T 660 36.0 12.0
72 17 2NO-1 ¢J 100 31.0 17.0(72 19 24 N= &7 110 28.0 20.0(69 22 3NN+2 a5 660 36.0 12.0
75 14 2NV -1 48 100 31.0 17.0(74 17 24 N= &7 110 28.0 20.0|70 21 3NN+2 48 660 36.0 12.0
80 5 2vV-1 v9 100 31.0 170 8 78 4¢ O-2 aT 100 24.0 24.0(73 18 3NN+2 a7 660 36.0 12.0
4 10 2¢ S= +Q 90 220 26.0( 1 15 34 N-1 aA -50 120 36.0( 1 15 3NN+1 &7 630 17.0 31.0
2 12 Pass 18.0 300 3 13 34 N-1 &4 -50 12.0 36.0| 9 77 3NN+1 48 630 17.0 31.0
8 77 Pass 18.0 30.0( 4 12 34 N-1 &4 -50 120 36.0({14 2 3NN+1 vK 630 17.0 31.0
13 1 Pass 18.0 30.0( 5 11 34 N-1 vK -50 12.0 36.0(16 75 3NN+1 a5 630 17.0 31.0
63 56 INV= &7 -90 13.0 350( 9 77 34 N-1 &T -50 12.0 36.0|61 60 3NN+1 48 630 17.0 31.0
66 23 INV= 29 -90 13.0 35.0(20 71 34 N-1 +3 -50 12.0 36.0(65 56 3N N+1 a5 630 17.0 31.0
15 74 2v V= +9 -110 5.0 43.0|61 60 34 N-1 &4 -50 12.0 36.0({20 71 3NN= 48 600 8.0 40.0
19 70 2v V= v9 -110 5.0 43.0|65 56 34 N-1 &4 -50 12.0 36.0(58 63 3NN= a4 600 8.0 40.0
58 61 2v V= &7 -110 5.0 43.0|67 24 34 N-1 &4 -50 120 36.0(72 19 3NN= a7 600 8.0 40.0
64 25 2v V= a) -110 5.0 43.0|70 21 44 N-1 &7 -50 12.0 36.0(74 17 6¢ N-1 &7 -100 3.0 450
65 24 2v V= +9 -110 50 43.0|73 18 44 N-1 vK -50 120 36.0({80 6 3NN-1 a5 -100 3.0 45.0
73 16 2v V= oT -110 5.0 43.0|58 63 34 N-2 vK -100 0.0 48.0| 3 13 3NN-2 a5 -200 0.0 48.0
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2 16 44DS+2 ¢7 1190 48.0 00|15 3 4v S+2 +Q 480 48.0 00| 7 13 4¢vDV-5 &4A 1100 48.0 0.0
62 61 44DN+1 v4 990 46.0 20| 2 16 4ANS+1 +J 460 450 30|71 24 3NS= +6 600 46.0 2.0
5 13 44 S+2 ¢7 680 38.0 10.0| 4 14 3NS+2 ¢+ Q 460 450 3.0|67 58 1a V-3 +3 150 430 5.0
6 12 44 S+2 ¢7 680 38.0 10.0|10 77 4v S+1 +Q 450 35.0 13.0|72 23 2v V-3 4 A 150 43.0 5.0
11 76 44 S+2 *7 680 38.0 10.0(59 64 4v S+1 +J 450 35.0 13.0(63 62 24 N+1 v] 140 39.0 9.0
59 64 44 N +2 ¢J 680 38.0 10.0(62 61 4v S+1 ¢+ Q 450 35.0 13.0(75 20 24 N+1 &4 140 39.0 9.0
68 25 44 S+2 ¢7 680 38.0 10.0|65 58 4v S+1 a4 450 35.0 13.0|60 65 3% S+1 4K 130 36.0 12.0
69 24 44 S +2 *7 680 38.0 10.0|(67 56 4v S+1 ¢+ Q 450 350 130| 5 15 34 S= &K 110 31.0 17.0
71 22 54 N+1 ¢J 680 38.0 10.0(68 25 4v S+1 +Q 450 35.0 13.0| 6 14 3¢ N= v7 110 31.0 17.0
8 79 44 N+1 v4 650 240 24.0(69 24 4v S+1 +Q 450 35.0 13.0|74 21 24 N= aT 110 31.0 17.0
15 3 44 S+1 vA 650 240 24.0(70 23 4v S+1 +6 450 35.0 13.0(80 8 24 N= v7 110 31.0 17.0
17 1 44 S+1 v5 650 240 240| 5 13 3NS+1 +6 430 15.0 33.0(10 78 1INV-2 +3 100 24.0 24.0
60 63 54 N= v7 650 240 240| 6 12 3NS+1 +Q 430 15.0 33.0|11 77 3v V-2 *Q 100 24.0 24.0
67 56 54 N= v4 650 240 240| 8 79 3NS+1 +6 430 15.0 33.0(69 56 1INV-2 46 100 24.0 24.0
70 23 44 N+1 v4 650 240 24011 76 3NS+1 ¢7 430 150 33.0( 1 19 24 N-1 v6 -100 11.0 37.0
73 20 44 S+1 vA 650 240 24.0(17 1 3NS+1 +Q 430 15.0 33.0| 3 17 24 N-1 v8 -100 11.0 37.0
4 14 Pass 16.0 32.0(21 72 3NS+1 +J 430 150 33.0( 9 79 3¢ N-1 ¢7 -100 11.0 37.0
21 72 5v O = +Q -650 13.0 35.0(60 63 3NS+1 +Q 430 15.0 33.0(12 76 3¢ N-1 ¢7 -100 11.0 37.0
65 58 5v O = »2 -650 13.0 35.0(66 57 3NS+1 +Q 430 15.0 33.0(16 4 24 N-1 a5 -100 11.0 37.0
74 19 4v O+2 &2 -680 8.0 40.0|71 22 3NS+1 a5 430 150 33.0(18 2 24 N-1 v7 -100 11.0 37.0
75 18 5v O+1 &2 -680 8.0 40.0|73 20 3NS+1 +Q 430 15.0 33.0(22 73 24 N-1 v6 -100 11.0 37.0
80 7 5v0+1 &2 -680 8.0 40.0|74 19 3NS+1 ¢J 430 15.0 33.0(61 64 24 N-1 v8 -100 11.0 37.0
9 78 5vDO= +¢A -850 3.0 45080 7 3NS+1 ¢+ Q 430 15.0 33.0(68 57 24 N-1 +9 -100 11.0 37.0
10 77 5vDO= &K -850 3.0 450| 9 78 3NS= +6 400 2.0 46.0|70 25 24 N-1 ¢ A -100 11.0 37.0
66 57 5vDO+1 &2 -1050 0.0 48.0|75 18 4v S-1 ¢J -50 0.0 48.0|66 59 3¢ N-3 v7 -300 0.0 48.0
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16 & K1096 17 1076543 18 a7
Vast v ED98 Nord vE Ost v K7
oV *2 Ingen ¢ 9642 NS + KKn9643
#Kn852 &DKn «D1097
4EKn82 &«D « D98 a- 484 & EKn102
v Kn2 v K106543 v KD5 v Kn987642 vEKn1042 v985
4+ Kn987 ¢ D53 + D73 + 105 ¢+ E107 + D85
&E63 #1094 #10954 #E762 &E43 K86
& 7543 & EKKn2 & KD9653
v7 v103 v D63
+ EK1064 ¢ EKKn8 *2
&#KD7 K83 »Kn52
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
60 65 2¢yDV-2 ¢2 500 48.0 00|12 77 6vDO-4 &A 800 480 0.0(69 58 3v V-2 a7 100 470 1.0
70 25 3v V-3 *2 300 46.0 20| 7 15 5vDO-3 +¢A 500 46.0 20|72 25 4v V-2 a7 100 470 1.0
7 13 2¢vDO-1 +A 200 400 8.0| 6 16 44 S+1 &9 450 36.0 120| 7 15 4v V-1 a7 50 39.0 9.0
11 77 2¢DO-1 +A 200 40.0 8.0(10 79 44 N+1 v2 450 36.0 12.0(11 78 3NO-1 & K 50 39.0 9.0
16 4 2v0-2 +K 200 40.0 8.0(11 78 44 N+1 v8 450 36.0 12.0(13 76 4v V-1 a7 50 39.0 9.0
69 56 2vDV-1 ¢2 200 40.0 8.0(13 76 54 N= v7 450 36.0 12.0({62 65 3v V-1 a7 50 39.0 9.0
71 24 2¢yDO-1 ¢A 200 40.0 8.0(61 66 54 N= v7 450 36.0 12.0(64 63 4v V-1 a7 50 39.0 9.0
6 14 34 S= &A 140 320 16.0(62 65 44 N+1 &A 450 36.0 12.0(70 57 4v V-1 a7 50 39.0 9.0
18 2 24 N+1 &T 140 320 16.0[({69 58 44 S+1 vK 450 36.0 12.0({80 9 34 S-1 vA -100 32.0 16.0
72 23 34 S= &3 140 320 16.0(73 24 44 N+1 v6 450 36.0 12.0| 4 18 3v V= a7 -140 24.0 24.0
10 78 2¢ S+1 vlJ 110 28.0 20.0|75 22 44 N+1 v6 450 36.0 12.0(10 79 3v V= a7 -140 24.0 24.0
22 73 2v O-1 *A 100 26.0 22.0| 2 20 44 N= v7 420 17.0 31.0|12 77 3v V= a7 -140 24.0 24.0
3 17 46 N-1 &9 -50 18.0 30.0| 4 18 44 S= vK 420 170 310|119 3 2vV+1 a7 -140 24.0 24.0
5 15 44 S-1 s A -50 18.0 30.0| 8 14 44 N= *T 420 17.0 31.0|67 60 3v V= a7 -140 24.0 24.0
9 79 44 N-1 +Q -50 18.0 30.0|17 5 44 N= v8 420 17.0 31.0|71 56 3v V= a7 -140 24.0 24.0
12 76 3NN-1 & Q -50 18.0 30.0|67 60 44 S= vK 420 17.0 31.0|75 22 3v V= a7 -140 24.0 24.0
61 64 34 S-1 vlJ -50 18.0 30.0|68 59 44 N= v2 420 17.0 31.0| 1 21 INV+2 +K -150 15.0 33.0
68 57 INS-1 a2 -50 18.0 30.0|70 57 44 N= T 420 17.0 31.0(61 66 2N O +1 & K -150 15.0 33.0
80 8 44 S-1 +8 -50 18.0 30.0|71 56 44 N= v8 420 170 31.0| 2 20 3v V+1 a7 -170  12.0 36.0
63 62 44 S-2 &A -100 7.0 41.0(72 25 44 N= v8 420 17.0 31.0|73 24 24 S-2 &A -200 10.0 38.0
66 59 3N N-2 &T -100 7.0 41.0|80 9 44 N= T 420 17.0 31.0| 6 16 3NO= oK -400 5.0 43.0
74 21 34 S-2 v]J -100 70 410( 1 21 34 N+1 +5 170 6.0 420| 8 14 3NO= &2 -400 5.0 43.0
75 20 44 S-2 vlJ -100 7.0 41.0|64 63 2v V= &) -110 40 44.0|23 74 3NO= & K -400 5.0 43.0
119 2vV= +2 -110 20 46.0|23 74 3vO-= *A -140 2.0 46.0|68 59 3NO= &K -400 5.0 43.0
67 58 3¢ S- vlJ -150 0.0 48.0(19 3 3vyDO= &K -530 0.0 48.0(17 5 3NO+1 «Q -430 0.0 48.0
19 & EKn973 20 «E6 21 & 642
Syd v K7 Vast vKn Nord v Kn63
oV + D8532 Alla ¢ Kn843 NS ¢+ KKn1064
&E &#EKNn10764 &ED
& 52 & KD64 D8543 #107 483 4975
vE832 v54 v8 v EK1097654 v972 v KD1085
¢ EK6 ¢ Knl094 + D102 ¢E7 ¢ D87532 ¢ E9
&#D972 #1064 &#KD98 &2 &K5 #Kn108
4108 & KKn92 « EKDKN10
v DKn1096 v D32 vE4
7 + K965 ¢-
#KKn853 &53 976432
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
68 61 34DN= #4 530 480 00| 5 19 4vDO-2 &5 500 450 3.0(13 78 5vDO-5 «A 1100 48.0 0.0
74 25 3¢ O-2 T 200 46.0 20| 9 15 4vDO-2 &5 500 450 3.0(12 79 44 S+3 +3 710 440 4.0
71 58 3v S+1 *A 170 440 4.0(68 61 4vDO-2 &5 500 450 3.0(25 1 44 N+3 ¢A 710 440 4.0
1 23 24 N+1 v5 140 420 6.0(74 25 4vDO-2 &5 500 450 3.0(74 57 44 S+3 +3 710 440 4.0
2 22 24 N= v5 110 37.0 110 7 17 4v O-2 &5 200 350 130 2 24 44 S+2 v2 680 31.0 17.0
3 21 24 S= ¢+ K 110 37.0 11.0(18 6 4vDO-1 &3 200 350 13.0| 3 23 44 S+2 +3 680 31.0 17.0
7 17 2v N= *T 110 37.0 11.0(70 59 4v O-2 49 200 35.0 13.0| 4 22 44 S+2 v2 680 31.0 17.0
24 75 2v S= &7 110 37.0 11.0(72 57 4v O-2 &3 200 350 13.0| 6 20 44 N+2 vK 680 31.0 17.0
8 16 INO-1 vQ 100 31.0 17.0(73 56 4v O-2 &5 200 350 13.0| 8 18 44 S+2 +5 680 31.0 17.0
73 56 INO-1 ' 100 31.0 17.0(80 10 4v O-2 a2 200 35,0 13.0(21 5 44 S+2 v2 680 31.0 17.0
72 57 14 N= v5 80 28.0 200 2 22 4v O-1 &5 100 23.0 25.0|63 68 44 S+2 v9 680 31.0 17.0
11 79 3v S-1 *A -50 17.0 31.0(12 78 4v O-1 &5 100 23.0 25.0|70 61 44 S+2 v2 680 31.0 17.0
12 78 24 N-1 &4 -50 17.0 31.0|13 77 4v O-1 &3 100 23.0 25.0|71 60 44 S+2 v2 680 31.0 17.0
14 76 24 N-1 v5 -50 17.0 31.0(62 67 4v V-1 s A 100 23.0 25.0|72 59 44 S+2 v9 680 31.0 17.0
18 6 24 S-1 ¢A -50 17.0 31.0(63 66 4v O-1 &5 100 23.0 250| 9 17 44 S+1 v7 650 15.0 33.0
20 4 24 N-1 v5 -50 17.0 31.0(71 58 4v O-1 a2 100 23.0 25.0|14 77 54 S= v2 650 15.0 33.0
62 67 24 N-1 v5 50 170 31.0( 3 21 4vO= &5 -620 11.0 37.0|19 7 44 S+1 v2 650 15.0 33.0
63 66 24 N-1 v5 -50 17.0 31.0( 8 16 4v O= &5 -620 11.0 37.0|66 65 44 S+1 v9 650 15.0 33.0
65 64 24 N-1 v5 -50 170 31.0(20 4 4v O= &5 -620 11.0 37.0|69 62 44 S+1 v9 650 15.0 33.0
70 59 24 N-1 &4 50 17.0 31.0(24 75 4v O= &5 -620 11.0 37.0|80 11 44 S+1 v2 650 15.0 33.0
80 10 3NN-1 +*J -50 17.0 31.0(65 64 4y O= &5 -620 11.0 37.0|15 76 44 S= v7 620 8.0 40.0
9 15 4v S-2 A -100 40 440|169 60 4y O= &3 -620 11.0 37.0|10 16 24 S+3 v7 200 6.0 42.0
13 77 3¢ N-2 v5 -100 40 440| 1 23 4v O +1 &5 -650 3.0 45.0(73 58 2# S +3 v9 150 4.0 44.0
69 60 24 S-2 ¢A -100 40 44014 76 4v O+1 &5 -650 3.0 45.0(75 56 24 S+1 v2 140 2.0 46.0
5 19 44 S-3 *+K -150 0.0 48.0(11 79 4vDO= &5 -790 0.0 48.0|64 67 44 S-1 v2 -100 0.0 48.0
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« EDKn8 23 - & Kn87
v 10652 Syd v EK73 Vast v K10
+6 Alla + E105 Ingen ¢ E74
»7642 #K109432 #Kn9643
a2 47643 « D98 & EKn1072 D4 & EK10632
v84 vE973 vKn9652 v¥D v EKn5 v D92
+ ED109852 ¢ K3 + D6 + 8732 ¢ 65 +103
K83 D95 &765 &EDKn &#ED10852 #K7
4 K1095 & K6543 495
v KDKn v1084 v 87643
¢ Kn74 ¢ KKn94 + KDKn982
&#EKNn10 3 -
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
4 22 44 S= ¢A 420 470 10(13 79 3#DN= vQ 670 48.0 00|74 59 3¢DS+1 4Q 570 48.0 0.0
64 67 44 S= a2 420 470 10|11 17 34DO-2 8 500 46.0 20| 9 19 44 O-2 +Q 100 440 4.0
21 5 3NS= ¢A 400 440 40|67 66 34 O-4 &8 400 440 4.0(10 18 3NO-2 *+K 100 440 4.0
10 16 24 S+2 va 170 390 90| 7 21 24DO-1 &8 200 35.0 13.0(65 68 3NO-2 +K 100 440 4.0
12 79 34 S+1 *A 170 39.0 9.0(10 18 24D O-1 8 200 350 130 5 23 54 0-1 +K 50 38.0 10.0
72 59 24 N +2 +K 170 39.0 90(15 77 34 O-2 &8 200 35.0 13.0(11 17 44 O-1 ¢+ K 50 38.0 10.0
73 58 34 S+1 ¢A 170 390 90(5 2 14aDO-1 &8 200 350 13.0(70 63 44 O-1 +K 50 38.0 10.0
3 23 24 N+1 +K 140 30.0 18.0(64 69 3NO-2 &3 200 35,0 130 4 24 5¢DS-1 «Q -100 32.0 16.0
6 20 3v N= + K 140 30.0 18.0(65 68 34 O-2 &8 200 350 130(56 2 5¢DS-1 «Q -100 32.0 16.0
69 62 3v N= ¢+ K 140 30.0 18.0(71 62 24DO-1 8 200 35.0 13.0(71 62 5¢DS-1 4Q -100 32.0 16.0
74 57 34 S= *A 140 30.0 18.0(72 61 24DO-1 &8 200 350 13.0(16 76 34 O= +Q -140 28.0 20.0
80 11 34 S= a2 140 30.0 180 3 25 3« N= s A 110 250 23.0( 3 25 34 O+1 +K -170 25.0 23.0
8 18 2N S= ¢A 120 240 24.0(16 76 3# N= vQ 110 25.0 23.0(64 69 24 O+2 +Q -170  25.0 23.0
2 24 44 S-1 a2 -50 210 270| 1 57 24 0-1 &3 100 17.0 31.0|75 58 24 O+3 +K -200 22.0 26.0
15 76 44 S-1 *A 50 210 270(22 6 24 0O-1 &8 100 17.0 31.0| 1 57 44 O= +K -420 12.0 36.0
13 78 INS-2 +8 -100 15.0 33.0|70 63 24 O-1 &3 100 17.0 31.0| 7 21 44 O= *2 -420 12.0 36.0
14 77 44 N-2 +K -100 15.0 33.0|73 60 24 O-1 &3 100 17.0 31.0|13 79 44 O= +K -420 12.0 36.0
25 1 INS-2 T -100 15.0 33.0(74 59 24 O-1 &8 100 17.0 31.0(14 78 44 O= +K -420 12.0 36.0
70 61 INS-2 +9 -100 15.0 33.0(80 12 24 O-1 &3 100 17.0 31.0(20 8 44 O= +K -420 12.0 36.0
71 60 3¢ V= v5 -110 10.0 38.0| 5 23 3v N-1 &A -100 9.0 39.0|67 66 44 O= +K -420 12.0 36.0
63 68 2¢ V+2 &8 -130 6.0 42.0|75 58 3& N-1 vQ -100 9.0 39.0|72 61 44 O= +Q -420 12.0 36.0
66 65 2¢ V+2 v5 -130 6.0 420 9 19 24 O= &3 -110 6.0 42.0|73 60 44 O= +K -420 12.0 36.0
75 56 3¢ V+1 vT -130 6.0 420( 4 24 3v N-2 s A -200 2.0 46.0|{80 12 44 O= +K -420 12.0 36.0
9 17 2¢DV+1 ¥2 -380 2.0 46.0|14 78 2NS-2 48 -200 2.0 46.0|15 77 44 O+1 +K -450 1.0 47.0
19 7 3NO= vQ -600 0.0 48.0(20 8 3« N-2 +8 -200 20 46.0(22 6 44 O+1 +K -450 1.0 47.0
25 & KD76543 26 & K932 27 LY:]
Nord vE10 Ost vED109 Syd v ED853
oV ¢73 Alla +8 Ingen + Kn964
&72 &#Kn986 #K53
& 109 & EKNn82 4765 «104 & Kn10753 & E962
vKn965 v84 vKn632 vK75 v Kn96 v K1072
¢+ E52 + KDKn6 ¢ K10532 ¢ D7 + K53 7
&#KKNn109 #E43 &5 &#ED10743 &ED 8742
- « EDKn8 «KD4
vKD732 v84 v4
+ 10984 + EKNn964 + ED1082
D865 &K2 #Kn1096
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
8 22 4v V-4 & K 400 480 0.0 4 56 2#4DO-3 +8 800 480 0.0| 1 61 4¢DS= +3 510 48.0 0.0
16 77 5¢ V-3 «Q 300 450 3.0 5 25 3NN+1 &A 630 440 40| 7 25 44DV-2 +¢6 300 46.0 2.0
68 67 4v V-3 &K 300 450 3.0(21 9 3NN+1 &3 630 440 4.0| 3 59 4¢ S= &) 130 36.0 12.0
17 76 4v V-2 & Q 200 410 7.0(66 69 3NN+ &7 630 440 4.0| 5 57 3¢ S+1 &) 130 36.0 12.0
21 9 4v V-2 &K 200 410 7.0 8 22 44 N= &A 620 36.0 12.0| 6 56 4¢ S= a3 130 36.0 12.0
4 56 24 S-1 T -50 36.0 12.0|10 20 44 S= &5 620 36.0 12.0| 9 23 2¢ S+2 a3 130 36.0 12.0
65 70 24 S-1 T -50 36.0 12.0|11 19 44 S= &5 620 36.0 12.0|11 21 3¢ S+1 aJ 130 36.0 12.0
73 62 24 N-1 v8 -50 36.0 12.0|72 63 44 S= &5 620 36.0 12.0(13 19 4¢ S= T 130 36.0 12.0
6 24 34 N-2 ¢+ K -100 31.0 17.0|74 61 44 S= &5 620 36.0 12.0(24 8 3¢ S+1 &) 130 36.0 12.0
71 64 34 N-2 v8 -100 31.0 17.0|12 18 3NN= a4 600 29.0 19.0|67 70 4¢ S= aJ 130 36.0 12.0
2 58 34 N-3 &A -150 25.0 23.0|75 60 3NN= &4 600 29.0 19.0|72 65 4¢ S= &] 130 36.0 12.0
66 69 34 N-3 +Q -150 25.0 23.0|16 77 2# 0O-3 v4 300 26.0 22.0|80 14 INS+1 &) 120 26.0 22.0
72 63 44 N-3 +K -150 25.0 23.0|73 62 24 S+2 &5 170 240 24.0|69 68 3&S= aJ 110 24.0 24.0
74 61 44 N-3 +K -150 25.0 23.0|23 7 INN+2 *Q 150 220 26.0|22 10 44 V-2 +6 100 22.0 26.0
80 13 2N O +2 +9 -180 20.0 28.0|71 64 24 S+1 &5 140 20.0 28.0|66 71 34 V-1 +6 50 20.0 28.0
75 60 44 N-4 +K -200 18.0 30.0|68 67 INS+1 +3 120 18.0 30.0(12 20 5¢ S-1 aJ -50 14.0 34.0
12 18 34DN-2 +¢Q -300 16.0 32.0| 2 58 24 S= &5 110 16.0 32.0|15 79 4¢ S-1 & -50 14.0 34.0
525 3NO= *T -600 11.0 37.0| 6 24 44 S-1 &5 -100 9.0 39.0(16 78 5¢ S-1 & -50 14.0 34.0
10 20 3NO = *T -600 11.0 37.0|14 79 3NS-1 &5 -100 9.0 39.0|17 77 2NS-1 43 -50 14.0 34.0
11 19 3NO= *T -600 11.0 37.0|17 76 44 N-1 T -100 9.0 39.0(74 63 5¢ S-1 & -50 14.0 34.0
15 78 3NO = *T -600 11.0 37.0|57 3 44 S-1 &5 -100 9.0 39.0( 2 60 5¢DS-1 &J -100 5.0 43.0
159 3NO+1 v2 -630 50 43.0(65 70 44 S-1 &5 -100 9.0 39.0|18 76 64 S-2 a5 -100 5.0 43.0
23 7 3NO+1 &6 -630 50 43.0(80 13 44 N-1 T -100 9.0 39.0(58 4 5¢DS-1 ¢3 -100 5.0 43.0
14 79 3NO +2 *T -660 1.0 470| 1 59 44 S-2 &5 -200 1.0 47.0|75 62 3v N-2 *7 -100 5.0 43.0
57 3 3NO+2 &6 -660 1.0 47.0|15 78 3¢ S-2 &5 -200 1.0 470(73 64 3NS-3 T -150 0.0 48.0
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28 « D96 29 #1052 30 « KD
Vast v 105 Nord vK3 Ost v E8652
NS ¢+ K3 Alla 497643 Ingen + Kn87
#EK9753 #542 #D43
4 E1073 482 & EKn8 &« K76 « Kn63 a2
vKn76 v983 vKn765 v D10842 vKnl043 K7
¢ E652 ¢ D9874 +5 ¢ E2 + K103 + E65
#Knl0 #D84 #KD1076 #Kn98 &E62 #KKn109875
« KKn54 « D943 « E1098754
v EKD42 vE9 vD9
¢ Knl0 + KDKn108 ¢ D942
62 &E3 »-

Par Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
69 68 3NS+3 3 690 470 10| 6 58 4v O-1 ¢+ K 100 480 00| 2 62 44 S= A 420 470 1.0
80 14 3NS+3 43 690 470 10|18 77 2¢ S= &K 90 43.0 50|18 77 44 S= A 420 470 1.0

1 61 3NN+2 48 660 43.0 50|67 72 INS= L JO) 90 43.0 50(10 24 3«4 S+1 vJ 170 440 4.0

6 56 3NN +2 +4 660 430 50|74 65 INS= &7 90 430 50| 6 58 5#0-3 *4 150 420 6.0
16 78 4v S+1 aA 650 400 80|75 64 INS= *Q 90 430 50| 1 63 64DO-1 4A 100 35.0 13.0
11 21 3NS+1 43 630 36.0 120| 1 63 INS-1 &K -100 350 13.0| 8 56 54 O-2 aA 100 35.0 13.0
12 20 3NN +1 v9 630 36.0 120| 4 60 3¢ S-1 &K -100 35.0 13.0|14 20 54D O-1 #A 100 35.0 13.0
66 71 3NS+1 v6 630 36.0 12025 9 34 S-1 *Q -100 35.0 13.0|67 72 54D O-1 4A 100 35.0 13.0

3 59 44 S= ¢A 620 320 16.0|59 5 3¢ S-1 &K -100 35.0 13.0(70 69 54DO-1 ¢4 100 35.0 13.0

9 23 3NN= +4 600 30.0 18.0(10 24 2v V+2 a2 -170 25.0 23.0|74 65 5# O-2 s A 100 35.0 13.0
67 70 2v S+3 a7 200 28.0 20.0|16 79 3v O+1 +Q -170  25.0 23.0| 7 57 440-1 4 A 50 26.0 22.0
58 4 24 S+2 ¢ A 170 26.0 22.0(19 76 3v O+1 +Q -170  25.0 23.0(13 21 44 0-1 aA 50 26.0 22.0
75 62 2v S= s A 110 240 24.0(23 11 2v O+2 ¢+ K -170 25.0 23.0(80 15 54 O-1 s A 50 26.0 22.0

2 60 3NN-1 ¢7 -100 12.0 36.0|68 71 3v O+1 *+ K -170 25.0 23.0| 3 61 34 S-1 v4 -50 22.0 26.0

5 57 3NN-1 +Q -100 12.0 36.0|73 66 3v O+1 +K -170 25.0 23.0(19 76 54 S-2 &A -100 19.0 29.0

7 25 3NN-1 +4 -100 12.0 36.0 8 56 INS-2 &K -200 17.0 31.0(25 9 54DS-1 «J -100 19.0 29.0
13 19 3NN-1 +9 -100 12.0 36.0|17 78 4¢ S-2 &K -200 17.0 31.0|16 79 4 0O= vQ -130 15.0 33.0
15 79 3NN-1 *4 -100 12.0 36.0| 2 62 5¢ S-3 &K -300 14.0 34059 5 440-= aA -130 15.0 33.0
17 77 3NN-1 +9 -100 12.0 36.0(12 22 4v O= A -620 9.0 39.0| 4 60 44 0+1 &A -150 10.0 38.0
22 10 3NN-1 +8 -100 12.0 36.0|14 20 4v O= ¢+ K -620 9.0 39.0|23 11 44 O0+1 4A -150 10.0 38.0
24 8 3NN-1 +8 -100 12.0 36.0(70 69 4v O= +K -620 9.0 39.0|75 64 340 +2 &A -150 10.0 38.0
72 65 3NN-1 ¢7 -100 12.0 36.0(80 15 4v O= ¢+ K -620 9.0 39.0|12 22 54 0= s A -400 5.0 43.0
73 64 3NN-1 +4 -100 12.0 36.0| 3 61 5¢DS-3 5 -800 3.0 45.0|73 66 5& 0O = 4 A -400 5.0 43.0
74 63 3NN-1 *7 -100 120 36.0(13 21 5¢DS-3 v7 -800 3.0 45017 78 3NV +1 v2 -430 2.0 46.0
18 76 3NS-2 2 -200 0.0 48.0| 7 57 3#DV+1 ¢K -870 0.0 48.0|68 71 44DS-3 &A -500 0.0 48.0
31 « KKn83 32 «D5 33 4 Kn
Syd v 1097 Vast v K32 Nord v 752
NS ¢ Kn943 ov + 854 Ingen + K732

#106 #EKD104 #EKN1072
4952 s E4 « EKN1087 4 K964 4K10985 D4
vKn654 v EKD82 v D64 v 108 vEKDKn4 v108
+ K6 + 1072 4976 ¢ E2 ¢ 108 + EDKn64
#K942  #Kn53 &Kn7 #98632 &3 #KD86

« D1076 32 « E7632

v3 v EKn975 v 963

+ ED85 ¢+ KDKn103 +95

#ED87 &5 #954

Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang

3 63 34 N= vA 140 450 30| 1 65 4vDS= +¢9 590 48.0 0.0|10 58 4v V-1 aJ 50 47.0 1.0
17 79 34 N= vA 140 450 3.0| 5 61 4v N+2 vT 480 46.0 20|21 76 44 V-1 A 50 470 1.0
71 70 34 S= vJ] 140 450 3.0| 3 63 4v S+1 *J 450 38.0 10.0(70 73 3& V+2 &2 -200 44.0 4.0
74 67 24 N+1 vA 140 450 30| 4 62 4v S+1 LN 450 38.0 10.0|12 56 3N O +1 v3 -430 40.0 8.0
18 78 24 N= vA 110 40.0 80| 9 57 4v S+1 +9 450 38.0 10.0|15 23 3NO+1 43 -430 40.0 8.0
11 25 4vyDO-1 &7 100 37.0 11.0(11 25 4v N+1 *9 450 38.0 10.0|16 22 3NO+1 v6 -430 40.0 8.0
69 72 5v O-2 46 100 37.0 11.0(19 77 4v S+1 LN 450 38.0 10.0| 5 63 44 V+1 ¢+ K -450 34.0 14.0

4 62 4v O-1 a7 50 32.0 16.0(56 10 4v S+1 LN 450 38.0 10.0(14 24 4e V+1 +3 -450 34.0 14.0
13 23 3v O-1 v3 50 32.0 16.0(74 67 4v S+1 +6 450 38.0 10.0(19 78 44 O+1 &5 -450 34.0 14.0
20 76 4v O-1 46 50 320 16.0| 2 64 4v S= aJ 420 27.0 21.0| 1 67 3NO+2 a2 -460 21.0 27.0

5 61 34 N-1 vA -100 25.0 23.0| 7 59 4v N= 46 420 27.0 210 2 66 3NO+2 &9 -460 21.0 27.0
19 77 34 N-1 vA -100 25.0 23.0|15 21 4v S= *J 420 27.0 21.0| 3 65 3NV +2 &A -460 21.0 27.0
75 66 34 N-1 vA -100 25.0 23.0|69 72 4v N= »8 420 27.0 21.0| 6 62 3NO+2 &4 -460 21.0 27.0
80 16 34 N-1 vK -100 25.0 23.0|14 22 INN= 46 90 220 26.0( 8 60 3NO+2 a2 -460 21.0 27.0
14 22 29 O= 46 -110 20.0 28.0| 8 58 4v S-1 s A -50 11.0 37.0( 9 59 3NO+2 &4 -460 21.0 27.0

165 3v0-= +8 -140 13.0 35.0(|13 23 4v N-1 46 -50 11.0 37.0(18 79 3NO +2 &5 -460 21.0 27.0

2 64 2vO+1 a7 -140 13.0 35017 79 4v S-1 s A -50 11.0 37.0(69 74 3NO+2 &5 -460 21.0 27.0

7 59 3v 0= a7 -140 13.0 35.0|18 78 4v S-1 s A -50 11.0 37.0(75 68 3NV +2 LN -460 21.0 27.0

8 58 2v O+1 a7 -140 13.0 35.0|20 76 4v S-1 48 -50 11.0 37.0(80 17 3NO +2 &5 -460 21.0 27.0

9 57 3v 0= ¢ A -140 13.0 35024 12 4v N-1 »2 -50 11.0 37.0(57 11 4a V+2 &T -480 9.0 39.0
24 12 29 O+1 46 -140 13.0 350|60 6 4v N-1 ¢ A -50 11.0 37.0(61 7 44 V42 aJ -480 9.0 39.0
15 21 2v O+2 46 -170 6.0 42.0|71 70 4v S-1 aA -50 11.0 37.0( 4 64 3NV +3 &T -490 3.0 45.0
56 10 44 N-2 vA -200 40 44075 66 4v N-1 ¢ A -50 11.0 37.0(20 77 3NO+3 43 -490 3.0 45.0
60 6 54 N-3 vA -300 2.0 46.0|80 16 4v S-1 ¢7 -50 11.0 37.0(25 13 3NV +3 *2 -490 3.0 450
68 73 4v O= a7 -420 0.0 48.0|68 73 3NN-2 a4 -100 0.0 48.0|72 71 3NV +3 &J -490 3.0 45.0
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& Kn542 LX) & Kn2
v92 v EKn1043 v D1097
+ E104 + EK8 + DKn8
#Kn753 SEKG2 #10652
& 873 4 E109 & EKn63 49752 «ED753 4 K96
v Kn4 v D75 v- v D986 v Kn5 v K864
¢ KKn8632 ¢ 975 + Kn96 + D7532 ¢E642 +97
K6 &ED109 &#D107543 - &D7 &#EK93
« KD6 4 KD104 « 1084
v EK10863 v K752 vE32
+D + 104 + K1053
3842 »Kn98 »Kn84
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
4 64 2v S+2 &K 170 480 0.0(56 14 3NS+2 &4 460 480 0.0 2 68 46 V-1 &5 100 450 3.0
2 66 3v S= LY:] 140 410 7.0 7 63 4v N+1 a5 450 430 50| 6 64 4e V-1 &5 100 450 3.0
3 65 3v S= *2 140 41.0 7.0|13 57 4v N+1 +5 450 43.0 50| 7 63 44 V-1 +Q 100 450 3.0
6 62 1lv S+2 &K 140 410 7.0(19 79 4v N+1 a2 450 43.0 5.0(19 79 4e V-1 +*J 100 450 3.0
10 58 2v S+1 *2 140 410 7.0(21 77 4v N+1 a9 450 43.0 5017 23 34 V= *J -140 40.0 8.0
16 22 2v S+1 a7 140 41.0 7.0|11 59 3NS+1 &4 430 37.0 11.0|21 77 2N O +2 LX) -180 38.0 10.0
61 7 3vS= a3 140 410 7.0(80 18 3NS+ a3 430 370 11.0| 5 65 4e V= +Q -620 30.0 18.0
69 74 2v S= &K 110 340 140(| 1 69 4v N= a7 420 27.0 21.0| 9 61 44 V= a2 -620 30.0 18.0
20 77 1lv S= &K 80 31.0 17.0( 3 67 4v N= a5 420 27.0 21.0|13 57 44 V= v9 -620 30.0 18.0
25 13 1lv S= &K 80 31.0 17.0| 6 64 4v S= &5 420 27.0 21.0|15 25 44 V= & -620 30.0 18.0
9 59 4¢ V-1 v9 50 27.0 21.0|10 60 4y S= &4 420 27.0 21.0|22 76 44 V= +Q -620 30.0 18.0
57 11 4e¢ V-1 v2 50 27.0 21.0|17 23 4vy N= +2 420 27.0 21.0(62 8 44 V= +Q -620 30.0 18.0
80 17 INV= v9 90 24.0 24.0|22 76 4y N= +3 420 27.0 21.0(70 75 44 V= v9 -620 30.0 18.0
15 23 3v S-1 &K -100 19.0 29.0|62 8 4v N= +5 420 27.0 21.0|56 14 3NO+1 vA -630 22.0 26.0
18 79 3v S-1 +3 -100 19.0 29.0|71 74 4v N= +2 420 27.0 210 1 69 4 V+1 v9 -650 12.0 36.0
70 73 3v S-1 +6 -100 19.0 29.0|20 78 1v N+4 *2 200 18.0 30.0| 3 67 44 V+1 v9 -650 12.0 36.0
72 71 2v S-1 &K -100 19.0 29.0| 4 66 4v N-1 a5 -50 12.0 36.0| 4 66 4a V+1 +Q -650 12.0 36.0
1 67 3¢ V= v9 -110 8.0 40.0(15 25 4v N-1 a5 -50 12.0 36.0|10 60 44 V+1 v9 -650 12.0 36.0
5 63 3¢ O= vA -110 8.0 40.0(58 12 4v N-1 a9 -50 12.0 36.0|11 59 4e V+1 v9 -650 12.0 36.0
8 60 3¢ V= v9 -110 8.0 40.0(70 75 4v N-1 +2 -50 12.0 36.0|16 24 4s V+1 v7 -650 12.0 36.0
3¢ V= v9 -110 8.0 40.0 v S-1 &5 -50 12.0 36.0 4e V +1 v9 -650 12.0 36.0
3¢ O= vK -110 8.0 40.0 6v N -2 +3 -100 4.0 44.0 4 V +1 +Q -650 12.0 36.0
3¢ O= vA -110 8.0 40.0 4N N -2 vQ -100 4.0 44.0 4e V +1 v9 -650 12.0 36.0
3¢ V= v9 -110 8.0 40.0 6v N -2 *2 -100 4.0 44.0 3N O +2 +3 -660 2.0 46.0
4v S -2 &K -200 0.0 48.0 6v N -3 a2 -150 0.0 48.0 4a \V +2 v7 -680 0.0 48.0
& KKn10 « D105 « EKn109
v K53 vED7 vE7
¢ K98543 + D654 + 84
&5 D87 #D9753
4 E85 & 972 &4 Kn983 & E742 aKD32 &7
vED872 v 106 vK103 v9654 v42 vK
+ D7 + E102 ¢1032 ¢ EKn7 + EK6 + DKNn107532
#E103 #DKn864 &E94 102 #KKn82 #E1064
« D643 & K6 8654
v Kn94 v Kn82 v DKn1098653
+ Kné + K98 +9
&K972 #KKn653 »-
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
369 3NO-1 *J 50 450 3.0(14 58 3NN +1 a2 430 48.0 0.0|58 16 5vDS= +K 850 48.0 0.0
6 66 INO-1 LY 50 450 3.0(10 62 3NN= a2 400 440 4.0(11 63 4v S+1 ¢A 650 46.0 2.0
17 25 3NO-1 +*J 50 450 3.0(17 25 3NN= a2 400 440 4.0(23 77 4v S= &K 620 43.0 5.0
71 1 2v V-1 &5 50 450 3.0(23 76 3NN= v4 400 440 4.0(80 20 4v S= *A 620 43.0 5.0
5 67 24 S-1 vA -100 40.0 8.0|18 24 INS+3 LX:] 180 38.0 100(72 2 5&V-3 vA 300 40.0 8.0
7 65 2v V= &5 -110 34.0 14.0|63 9 INS+3 v3 180 38.0 100 3 71 5¢DO-1 +¢Q 200 38.0 10.0
10 62 2v V= &5 -110 34.0 14071 1 2NS+2 48 180 38.0 10.0| 7 67 5¢ O-1 v3 100 33.0 15.0
11 61 2v V= &5 -110 34.0 140| 6 66 2NN+1 LY 150 28.0 20.0|15 59 5¢ O-1 vQ 100 33.0 15.0
12 60 2v V= &5 -110 34.0 14.0| 7 65 2NS+1 LY:] 150 28.0 20.0|24 76 5¢ O-1 vQ 100 33.0 15.0
72 75 3# 0= +*J -110 34.0 14.0|16 56 2NN+1 v5 150 28.0 20.0(60 14 5¢ O-1 vQ 100 33.0 15.0
63 9 2NO= 46 -120 28.0 20.0|20 79 2NS+1 L] 150 28.0 20.0| 9 65 5v S-1 ¢A -100 28.0 20.0
2 70 2v V+1 &5 -140 24.0 24.0|21 78 2NN +1 v5 150 28.0 20.0| 6 68 4¢ O= vQ -130 25.0 23.0
14 58 3v V= &5 -140 24.0 24.0|57 15 2# S+3 v3 150 28,0 20.0(73 1 4¢ O= vQ -130 25.0 23.0
20 79 2v V+1 &5 -140 24.0 24.0|59 13 INS+2 LX:] 150 28.0 20.0|13 61 4¢ O+1 LX:] -150 21.0 27.0
8 64 1INV +2 *4 -150 18.0 30.0| 4 68 2# S+2 LY:] 130 19.0 29.0|19 25 4¢ O+1 vlJ -150 21.0 27.0
18 24 1INV +2 +5 -150 18.0 30.0| 8 64 3« N+1 s A 130 19.0 29.0( 8 66 5¢ O= vQ -600 16.0 32.0
59 13 1INV +2 *4 -150 18.0 30.0|22 77 INS+1 LX:] 120 140 340|121 79 5¢ O= vlJ -600 16.0 32.0
16 56 3v V+2 &5 -200 13.0 35.0|72 75 2NN= LY 120 14.0 34022 78 5¢ O= vQ -600 16.0 32.0
23 76 2v V+3 &5 -200 13.0 35.0|80 19 2NN= a2 120 140 34.0(18 56 3NV +1 aJ -630 12.0 36.0
22 77 1INV +4 *4 -210 9.0 39.0(11 61 Pass 9.0 39.0(64 10 3NV +2 &3 -660 9.0 39.0
74 73 1INV +4 *4 -210 9.0 39.0(74 73 Pass 9.0 39.0(75 74 3NV +2 &3 -660 9.0 39.0
80 19 34 S-3 a5 -300 6.0 42.0| 2 70 3NS-1 48 -50 40 44.0(17 57 3NV +3 aJ -690 6.0 42.0
57 15 4v V+1 &5 -450 40 440| 5 67 3NS-1 a3 -50 40 440| 4 70 5¢DO= ¥Q -750 2.0 46.0
4 68 3¢DN-2 T -500 1.0 470|112 60 3NN-1 v4 -50 40 440| 5 69 5¢DO= +vQ -750 2.0 46.0
21 78 3¢DN-2 T -500 1.0 470 3 69 24 V= &7 -110 0.0 48.0|12 62 5¢DO= ¥Q -750 2.0 46.0
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40 # K986 41 « K10 42 « EKn1098
Vast v DKn3 Nord v D9762 Ost v Kn7
Ingen ¢ 7654 ov *+ K Alla ¢+ D974
K4 #DKn1095 *82
4 E10754 D3 4965 47 4 D5 4643
v K5 v 9876 vK103 vE54 vED92 ¢85
¢32 + EKn9 ¢ DKn9 ¢ E7543 41053 ¢K82
#DKn96 #E1087 #K762 #»E843 #K1054 #EKn763
& Kn2 « EDKn8432 4 K72
v E1042 vKn8 v K10643
+ KD108 ¢ 10862 + EKn6
£532 &- D9
Par Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
8 66 2NN = «Q 120 480 00| 5 71 44 S= ¢+ Q 420 470 10| 6 70 24 N+3 43 200 48.0
6 68 34 V-2 vQ 100 46.0 20|61 15 44 S= +Q 420 470 10|18 58 24 N +2 *6 170 46.0
371 3NO-1 ¢+ K 50 430 50| 4 72 440-3 vJ] 300 440 40|13 63 INS+2 LY 150 44.0
60 14 INO-1 ¢+ K 50 43.0 50| 6 70 24 S+2 ¢+ Q 170 40.0 80| 4 72 24 N+1 +8 140 340 1
9 65 Pass 37.0 11.0(12 64 24 S+2 ¢J 170 40.0 8.0|10 66 24 N+1 43 140 340 1
11 63 Pass 37.0 11.0|20 56 24 S+2 +Q 170 40.0 8.0|12 64 1a S+2 LY 140 340 1
73 1 Pass 37.0 110| 1 75 34 S= +Q 140 31.0 17.0(19 57 24 N+1 3 140 340 1
80 20 Pass 37.0 11.0(10 66 24 S+1 *6 140 31.0 17.0(25 76 24 S+1 v2 140 340 1
7 67 3¢ S-1 L Jo) -50 31.0 17.0(19 57 24 S+1 +Q 140 31.0 17.0|59 17 24 N+1 a4 140 340 1
23 77 2¢ S-1 *Q -50 310 17.0(22 79 24 S+1 ¢+ Q 140 31.0 17061 15 24 N+1 v8 140 340 1
18 56 INO= +Q -90 26.0 220(73 3 34 S= +Q 140 31.0 17.0(73 3 24 N+1 v8 140 340 1
64 10 INO= +Q -90 26.0 22.0(80 21 24 S+1 *J 140 31.0 170|74 2 24 N+1 v8 140 340 1
72 2 INO= ¢+ Q 90 26.0 22.0(24 77 24 S= ¢+ Q 110 240 240| 8 68 INS+1 &5 120 240 2
17 57 3¢ S-2 aA -100 21.0 27.0|13 63 34 S-1 +Q -50 18.0 30.0(80 21 44 O-1 a2 100 220 2
21 79 3¢DS-1 3 -100 21.0 27.0(14 62 44 S-1 +Q -50 18.0 30.0( 1 75 34 N-1 v8 -100 14.0 3
12 62 INO +1 ¢+ K -120 16.0 32.0|16 60 34 S-1 +Q -50 18.0 30.0( 5 71 INS-1 vA -100 14.0 3
13 61 INO+1 *T -120  16.0 32.0|59 17 44 S-1 ¢J -50 18.0 30.0( 9 67 INS-1 &4 -100 14.0 3
22 78 INO+1 *T -120  16.0 32.0|65 11 34 S-1 a5 -50 18.0 30.0(14 62 24 N-1 v8 -100 14.0 3
4 70 24 O+1 ¢+ K -140 7.0 410| 7 69 44DS-1 45 -100 8.0 40.0|16 60 2v S-1 +3 -100 14.0 3
15 59 24 V+1 ¢7 -140 7.0 41.0| 8 68 44 S-2 +Q -100 8.0 40.0|20 56 INS-1 &5 -100 14.0 3
19 25 24 O+1 +Q -140 7.0 410| 9 67 3v N-2 a7 -100 8.0 40.0|24 77 34 N-1 &A -100 14.0 3
24 76 24 V+1 vQ -140 7.0 41.0|18 58 44 S-2 +Q -100 8.0 40.0| 7 69 34 0= a2 -110 6.0 4
58 16 24 V+1 &K -140 7.0 41074 2 4v N-2 a7 -100 8.0 40.0|23 78 1INV +1 aJ -120 40 4
75 74 24 V +1 vQ -140 70 41.0|23 78 34 S-3 +Q -150 1.0 47022 79 INS-2 &5 -200 10 4
5 69 INO+3 ¢+ K -180 0.0 48.0|25 76 4v N-3 a7 -150 1.0 470(65 11 3NS-2 +Q -200 10 4
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